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1 181 Bk 12 UBHEKSC-5A (5] 2 59. 07 2 | 215 |RR KBS JXEAC-5A|5] 2 59. 84
182 |8 & ubmEKSC-5A| 5] 3 216 |ibt BE JXEAC-5A(5] 3
183 |HHKk #BABE |vsnatKsc-5A[5] 4 214 |F0@ $REE JXEAC-5A[5]| 4
82 Bk HHE WHY 17 511 244 ()EE ER 10015 &5 | 6] 1
3 84 |ZxO BT WAL 1=7 51 2 1. 00. 96 4 | 245 ()il ¥E 10015 &7 |52 1.03.72
2 81 |BH 4 WKHES21=7 5[ 3 246 |MHA ME 1001 &7> | 5] 3
83 |tkE B WHS21=7 5[ 4 247 /NEE R 10015 &5 5[4
566 |1 EIF ZZEFKSRC 5[ 1 461 [BH & L3 gFEE 511
#[| 5| 567 |[== =8 ZZEFKSRC 51 2 1.06.19 6 | 462 |’kB KH5 gEE_ 512 1.07. 06
568 |7l i ZZEFKSRC 51 3 465 [FEH HFIK gFEE 513
b6b |=iH =@ 3T BFKSRC 51 4 464 | KBy RiEg BiEE_ 5| 4
307 |HAf EX = H#5B 5
305 [FHWL =R = H#58 5 DNS
308 | &/ = H#5B 5
306 [EAR & = FH 5B 5




20160703 RESULT

435 |ty 1z477 9500t ek |7 124 JAC—B 5[ 1 393 [4EER ERK HRJ-5B 511
1 433 |ER &% 2124 JAC—B 51 2 58. 81 2 394 [ILF =W HRJ-5B 51 2 1.02. 82
434 |:EZH B R (2HJAC—B 51 3 395 [BF EX HRJ-5B 51 3
432 1db)Il 48 22 HJAC—B 51 4 396 [BA 22} HRJ-5B 5] 4
160 [HHF &= |[FEEWELA 5[ 1 191 |#HE KM 0smKSC-5C | 6| 1
3| 168 |/n#k EAZE EILMAELA 5(2 1.03. 54 4 | 189 | BIE ubMm=KSC-5C| 5| 2 1.04. 94
3 169 [lLA #X BEILEsA 5(3 190 |&BHE BA  |osmsrksc-s5c|b| 3
164 [R&E 4088 BILEA 5[4 193 /MR KAR ubrtKsSc-5c| 5] 4
302 (EE #E = H #5A 51 1 15 | R&E BEEA BHABE 511
#8 | 5| 303 [mE mE = H#5A 5[ 2 1.05.03 6 18 [#EF M5B BHAIE 512 1.06. 23
304 |BRA BEE = HE#KbA 5] 3 14 [aTH #8412 BHABE b 3
301 GhEH EE& = H#R5A 5[ 4 16 [k BETD BMHIE 514
568 |E#& A RRKERY—LZ|DH] 1
7 | 559 [XAB fKER RAERY—LZX[DH] 2 1.07.37
557 |& &F KRAERY—LZX[5] 3
556 |F b @A srREEY—L2|5] 4
2 #- F| £-
IE | BE KE % FE4 F| 5| FE IE | BE KE £ E4 F|5- EC 8%
435 |rvazare o3 x| 124HJAC—B [ 5] 1 180[/NJII 1B viMm=KSC-5A 5| 1
1| 433|#R &% 1 IZHJAC—B | 5| 2 2| 181|m=m,: ¥ vBmKSC-5A] 5| 2
4341;2H & TIZ4HJAC—B [ 5] 3 58.81 182|118 & veam=KSC-5A| 5| 3 59.07
43213kl EE 2 hHhJAC—B | 5] 4 183|F#Kk BAB |vssrksc-5A|5] 4
388|EER BIK HRJ-5A 511 213|803k JXEAC-5A]5] 1
3| 389|ER #E HRJ-5A 512 4| 215|F|IR HKBH |2XEAC-5A|5|2
~ 390|/NE % HRJ-5A 5] 3 59.78 216t @BE JXEAC-5A|5] 3 59.84
A 91|=F G2 HRJ-5A 51 4 214|F0H  $hEE JRXEAC-5A|5| 4
b 82|EKx HHE WHY2=7 |5]1 269| 1L KB *KAAC—HA |5] 1
815 84|Z%0O RiT WHYa2=7 |b] 2 6| 267|RF AUE KARAC—5BA |5] 2
81|&HE 1§ WHYa2z=7 |5]3 1.00.96 268| 1R ERE |[ZAAC—5H5A [5]3 1.01.94
83|tk/E [E WHYa2=7 |5]|4 266 |t HFE *XAAC—5A |5]4
612|f8m &3t BERE_5(3) (5] 1 184|/\pg =22 UoHEKSC-5B| 5| 1
7| 613|#aK KB BERE=5) | 5| 2 8 | 185|B2M f1EXKEF |osmrKsc-5B|5| 2
614(ILA #HBF E¥mE—5(R) | 5] 3 1.02.46 186|BJIl B veam=KSC-5B| 5| 3 1.02.75
615|211 EHR BEEE_5G) | 5] 4 1871 FE =X vsnKSC-5B| 5] 4
b - 6L EEF 4X100mY L—3RE (KIRFKKRF—LEEL—X)
T T
IE | /S PB4 A e JE | = E £ IE4 2 8- ko
205|IEH &EH JXEAC-6A 6] 1 42879z vra vt IRIZHJAC—A 6] 1
208|BHE  1Eth JOXEAC-6A 6] 2 427|188 EX BIZHJAC—A 6] 2
1 207|h%t ExzB) [2XEAC-6A 6| 3 2 430|hiE EBX HIZHJAC—A 6| 3
206|EFE KE JXEAC-6A 614 51.26 429|0r[ 5B At RIZHJAC—A 64 52.72
270[H /X KAAC—A 6] 2 86(fklR & WHS1=7A 6] 4
271|7kB  $1K RAAC—A 6|3 87(8HF* M WH1=F7A 6|3
3 272|1#@B B KARAC—A 6] 1 4 90|x8 &M WHY21Z=F7A 6|1
xR 2737+ 1EF RAAC—A 6 4 52.83 89|fEE [FX WHS2=FA 6] 2 53.49
] 493|Fh/ & FAU—hxy bk 6] 1 374| xR #EX HRJ-6A 511
494/ 1L ffEsk FAU—bxy bk 6|2 3N ==F Bt HRJ-6A 6| 2
5 495|E—F4~x— E|7ARU—bFRYb 6|3 6 372|3F KA HRJ-6A 6|3
498| R I FRJ—hxv bk 5|4 53.92 373|E BAE HRJ-6A 6 4 5452
369|MmeEE HX FEAC 6] 1 171 ER A USMEKSC-A 6] 1
368|1EH  BEAR FEAC 6| 2 172|&8 AR VbME=KSC-A 6] 2
7 | 356|=Ff KX F1EAC 5|3 173 BE vsME=KSC-A 6| 3
359\ K+t HE FiEAC 51 4 57.07 174|#88 {AEE |vohiKSC-A 6] 4 DNS




20160703 RESULT

6 FLF 4x100mR
T
No. [ 4- No. = 7-
B 1IE | 5k Ve = F| 4 0% B [ A-p JavES = F|5- o
407 |REE A TIZHJAC—A 6| 1 562 |l wmE ZxREEsS5T (%) | 5] 1
1 409 |BEE =& 124 JAC—A 6| 2 54.92 2 | 561 | K& =T=E =EEEsST (%) [ 6] 2 56.90
408 [BI® ZEP  |AICHIAC—A | 6] 3 560 [#HE &= =ERts57 (%) | 6] 3
411 [EH =8 BIZHhJAC—A |6] 4 563 |=#F ki= =EErs57 (2 | 6] 4
497 |#EH &R EEVZT 6 1 46 |RR =B RKE—6B 6] 1
3 | 500 AR EESST 5 2 59.06 4 45 |F =R RKE—6B 6| 2 1.00.13
1 499 |¥AR EiK EExVZT 6 3 47 |liO EX RKE—6B 6] 3
498 |FAN mHEZE EES ST 6] 4 418 |[& EF RKE—6B 6] 4
268 (A [BF 10015 &5 |61 346 |[BRE #HF EBRSa1=7A [6] 1
#8 | 5| 265 |luE #EF 10015 &5 >|6] 2 1.01.62 6 | 343 |HhHf EHB BEARSa2=FA |5] 2 1.01.81
266 |20 ZEF 10015 v&Z |6 3 344 A (5% BRXYa=7A [5] 3
264 |#+F mAmE  [10015&5|6] 4 345 |EB SH= EAC2=7A |6] 4
168 |BkEH =E&HF RS 2y —Z| 6
169 |ILE BTt eSS 2Ry —% | 6 DNS
170 |8& #5A WY S AARyK—Z| 6
171 [RE D REg Y5 A4y A—x | 6
549 |EH ¥y /NEE(R) 6| 1 385 |BIBREF HRJ-6A 6| 1
1 551 |IR A /ANEE(R) 6 2 56.38 2 | 386 | BFT HRJ-6A 6] 2 57.37
550 |AfR BA%KRE /NEE(R) 6 3 387 |k T HRJ-6A 6] 3
552 [EH T FUNEE(F) 6| 4 388 [IUA i HRJ-6A 6| 4
44 1BES S RKE—6A 6| 1 247 |l =ETE JOXEAC-6A|6] 1
3| 41 |mE FH RAEZ—6GA 6| 2 57.40 4 | 246 |IuX EPHF |2XEAC-6A|6] 2 59.75
2 43 |BEKR BTt |[RKE—6A 63 245 (/R FHEL JOXEAC-6A|6] 3
40 |BAAX ¥E= RAE—6GA 6] 4 253 |itA  BAfS JXEAC-6A[5] 4
140 [N EZE JEKAC—B [6] 1 33 [E E# stFo—kErs| 6] 1
B 5[ 141 [k —# IEFKAC—B | 6] 2 1.01.23 6 | 341 |H+ TE skHo—Rxoo (6] 2 1.01.42
142 |BR X% EKAC—B [6] 3 338 |RE H=#F |s4n—rxvs|6] 3
143 [EHF FH JdiEKAC—B | 6] 4 340 |ER B skHo—kRx> 7 6] 4
475 |®HE BAEX HixJC 6] 1
7 | 476 |fEFM EF HixJC 6| 2 1.07.28
477 |h—> BB HixJC 6| 3
478 |Eliy mZE HixJC 6| 4
468 |RBi EBEF FARU—=krxy k| 6] 1 383 |5BEK HCH H1EAC-B 6] 1
1 469 'BER AH FA)—=kxyr|[6] 2 59.24 2| 382 |& HiE FH1EAC-B 6] 2 1.01.62
470 (HEHF AN FAU—hryh|6]|3 373 |ikE AT H1EAC-B 5(3
471 AR #BE FA)—hrxyr[6] 4 374 |#E P FH1EAC-B 5] 4
224 |EEK BEE Usht=KSC-C[ 6] 1 539 (Il #k=E KBHERE—B 5(1
3| 225 B2 tiE UemEKSC-C| 6] 2 1.02.20 4 | 540 (M2 SR FEHAEE—B 5] 2 1.03.34
3 226 |48 ERZ Ubm=KSC-C[6] 3 537 |BF UMD |HBAAEm—B 6] 3
227 [KiT BF UbhtKSC-C[6] 4 538 [RE &F HEAEE—B 6] 4
25 [#BHF FHRF |MHSE 6| 1 139 (Al B JBEKAC—A | 6] 1
5 22 |#EHE #K BHAE 6 2 1.03.58 6 | 136 |AT =& JEFKAC—A |6 2 1.04.29
23 |EEXR H4ax MHAE 6 3 138 |E#F EX JFKAC—A | 6| 3
21 |HH #®#F BHAE 6| 4 137 [3E =3 EEKAC—A |6] 4
316 | BXx = H#6B 6 1
7| 317 |HE EBR = H#68B 6 2 1.04.91
315 |8, &Al = H#6B 6|3
314 |t EH & H#6B 6|4
220 | mE vbMm=KSC-B| 6| 1 131 [Kel &Jy WHYa21=Z7B |6] 1
1 221 |$BB T& Uemn=KSC-B| 6] 2 58.45 2 129 |1EH 2 WHYa2=7B | 6] 2 59.87
222 |B2@ BF U5 E=KSC-B[ 6] 3 132 (@B &3F WHa=7B |6] 3
223 [ME #F UbhfKSC-B[6] 4 130 |%M #FF WHSa1=FB | 6] 4
310 |m@EE mTE = H6A 6 1 376 |78 EH F1EAC 6] 1 DQ
3| 311 [BEE =K = HEM6A 6 2 1.00.03 4 | 381 [~ &FA FHiEAC 6] 2 (57.88)
4 312 (HIl BE = H6A 6 3 380 &M EM H1EAC 6| 3(2->3
313 /g BEF = H6A 6] 4 377 |BEE WL H1EAC 6] 4 5m over
532 [E£& #1E XBEE—A 6 1 DQ 452 |BEIR B EhxFy S 6| 1 DQ
#2 5| 534 [ =& FEAABER—A 6 2 (59.71) 6 | 458 |X FBED Ehxxy S 5[ 2 (1.01.81)
535 |80 Ez= XBEE—A 6| 3 ([2->3 451 |AH & Ehxxy S 6| 3 |1->2
533 |EER fER FEAER—A 6] 4 2m over 461 [F0H © S Ehzxty S 6| 4 7m over
128 |fRBE BETY WHS2=7A [6] 1 215 [N B3 vBsME=KSC-A|6] 1
1| 127 (g1 =& WHY2=FA | 6] 2 54.85 2 217 |Hh —% VBMEKSC-A| 6] 2 56.21
124 (ME B WHa1=F7A | 6] 3 216 |AE »E vbME=KSC-A| 6] 3
125 [y /MNE WHAY2=7A [6] 4 218 [\uMm —2 vbME=KSC-A| 6] 4
301 |=8 & KARAC—A 6| 1 11 |AFH# oh [RM7yFLB | 6] 1
3| 302 [t ¥RE KARAC—A 6 2 59.77 4 12 LR = REMFTYTILB | 6] 2 1.00.03
5 300 =k fzE KARAC—A 6| 3 13 |AKX &5 M7y IILB | 6] 3
303 |&ZH % RARAC—A 6| 4 14 |EAX H RINT7y FILB | 6] 4
430 |AjfE E 33 6| 1 524 |IUA RBX X EKSRC-B 51 1
# | 5| 436 [(ITE k&= B2E_ 6 2 1.03.46 6 | 523 |JIlEx B4 L EFKSRC-B 51 2 1.04.92
434 |F@m EHEEZE sFEE- 6| 3 520 |HLE =R AZEFKSRC-B 6] 3
433 |KRH 163 eFFE_ 6] 4 516 |&EH FER K EKSRC-B 6| 4
372 [y #EE F1EAC-C 5[ 1
7| 371 'k E% F1EAC-C 5] 2 1.05.50
378 |ElL fEH H1EAC-C 6| 3
379 |EBE IE FH1EAC-C 6| 4




20160703 RESULT

8 [A¥Y XEE FEM7y TILA | 6] 1 519 |@JIl Fitt AZEFKSRC-A 6| 1
1 9 (BN ] EM7y FILA | 5] 2 57.24 2 | 518 |&y &= ZZEFKSRC-A 6] 2 58.15
7 B AF FM7y TILA | 6] 3 517 I HED R EKSRC-A 6] 3
6 |HHE BE EM7y FILA | 6] 4 521 |BkE  #= T EFKSRC-A 6| 4
413 | KAR &S RIZHJAC—B 6| 1 122 | K& B WHAS2=7C [5] 1
3| 412 [EF © BIzhJAC—B(E)|[ 6] 2 59.01 4 1 120 (8@ BF WHAYa2=7C |5] 2 59.95
6 415 |k =8/ RIZHJAC—B 5 3 123 [f@E &< 5 WHAY2=7C | 5] 3
410 |HE IZHJAC—B 6| 4 121 [HA FDTE WHAYa2=7C [5] 4
350 |/ K& EAXAYCa2z=Z7B [6] 1 569 | EEm E¥RE_6(R) | 6| 1
B 5 348 [/MER =3 BARCa=7B |6] 2 1.05.60 6 | 570 |fEE mWMmyE EBERE=6(R) |6 2 1.05.63
351 (K8 BZE EAXAY2=7B |[5] 3 571 [##H  FH BEmE=—6(x) | 6] 3
349 (AT EE EACa2=7B [6] 4 573 |EH ZEMR BERE=—6(=) | 6] 4
184 |HO #HH ] 61
7 | 187 |[BKX ¥1E mLUE6B 6| 2 1.06.30
180 |F1EH =EF MELUmE6B 63
188 [T WX MILEG6 B 6| 4
T T
IE | &S | E % FE4 2ia-| R IE | BE K 4 E4 i G
128|Fk STy e /1_7A 6i 1 407|REA YA RIZHJAC—A 6: 1
1 127|81@E =EE WH: /:L —7A 62 2 409| 5@ =& RIZHJAC—A 61 2
124|/]H B WHYa2=7A 6: 3 54.85 408|iT8 W |#RIZ4HJAC—A 6: 3 54.92
125|/1L /& WHSa2=F7A 64 411 FH A RICHJAC—A 6i4
215|A%E =B |USNEKSC-A 6 1 549lFH ¥ |m/NE(ER) 61
3 27| —% VBHEKSC-A 61 2 4 | 551|RE #A T/NE(R) 62
~ 216|188 A UBME=KSC-A 6§ 3 56.21 550| AR BRZkBE |R/NEE(R) 63 56.38
x 218| 1L —= UbMEKSC-A 6 4 552| L@ EHF TUNEGR) 6: 4
[ 562(#AI HmE =EErs57 (3 5! | 8| AW KREHE |[RM7TvTILA 6: 1
8 | 6| H61|AKN =JE =EEEIST () B 2 6 9| Bl EZE M7y FILA b5i 2
560|#H &= =EEEsST (R 61 3 56.90 ALEZ IS RMF7y FILA 613 57.24
563|=1F ki= =EEEIST () 64 6|HMA E SMN7y FILA 6 4
385|BIB LR EF HRJ-6A 6 1 4B ER BS [RKE—GA 6: 1
7 386| LM &ZFJy |HRJ-6A 6: 2 8 41|88F F&H RKE—GA 6i 2
387 |1k B HRJ-6A 6 3 57.37 ERIP=F N B}EJ/:?T_ RKE—-GA 6: 3 57.40
388|IIA  EH HRJ-6A 6: 4 40| B T= EXRE—GA 6i4
5F%LF 4xXx1T00mR
521
No. 2| A= No. | 1-
MUE] ] K = FE 4| R Bl -+ K£ = FE|5-|
54 |18 LN RAZE—5HA 51 1 101 |8 &N REIE— 511
1 53 |MA Lt RKE-5A 5 2 59.90 2 100 |fefh 2% FEE= 51 2 1.02.61
51 |&H =H# RKE—-HA 5] 3 99 |FHEA ERBRE |REEEZ 513
52 [mifE S E RXE—5A 5[ 4 98 |[BH EXx FEERE 5] 4
453 |RA X EdhxFy S 511 321 |fEA LI = HM5EA 5[ 1
3 | 454 |BRF &® BhxFy S 5 2 1.05.15 4 | 319 [(IH X& = H#5A 51 2 1.05.96
1 455 | &R = Edhxfy S 5 3 320 |E&E Fifg = HHM5EA 5[ 3
457 |¥WAR BR&E EohxFy S 5[ 4 318 [BAR & = H#5A 51 4
279 &I EM 10015 v &5 >v-C[ 5] 1 152 (&1L EFE JEFKAC—C | 5| 1
#B | 5| 280 |;BE EXx 10015 &5 v-C{ 5] 2 1.09.79 6 | 153 |7 F= JEFEKAC—C | 5] 2 1.14.33
281 [£%H < %% |10015v&5>-C| 5| 3 154 (#8H #k JtiEKAC—-C [ 5] 3
282 | FAX EH 10015 v&5v-C| 5| 4 155 [ & JEKAC—C [5] 4
511 | &< 5 RKERY—LAX|5]| 1 DQ
7 | 512 | FLHE |RAERU—LZ|L] 2 (1.09.02)
510 [BE M&EMB RARERY—LX|5[ 3 [1->2
513 [#&)Il 33 SRERY)—LZ| 5] 4 7m over
230 |#B & 0OBME=KSC-5A[ 5[ 1 492 [rElF FE EBEED A 511
1| 228 [#L FE UBME=KSC-5A[5| 2 58.76 2 | 495 |FKX KB EEES A 5] 2 1.02.18
229 |WLE #&F uBME=KSC-5A[5[ 3 494 |#EH —KHT |FESHA 513
231 [BEH KXk vontKsc-5AG | 5] 4 493 |EF KB EEL A 5| 4
250 [FH =4 aOXEAC-5A]5( 1 36 (AL Bk WHAIEB 51 1
3 | 254 |XKd H=i5 OXEAC-5A]5( 2 1.02.35 4 31 R ®E MHAEB 51 2 1.10.72
2 251 |/ FnsE JXEAC-5A|5] 3 32 (MN @B HAEB 513
252 |AfM mBZ%E JXEAC-5A|5] 4 30 @k dh= BHAEB 5| 4
148 |5F =1t JEEFKAC—B | 5] 1 80 |db)ll EIK PRS- SN BN I DQ
#[| 5 149 | K& = JEFKAC—B | 5] 2 1.11.63 6 78 |EEM #k& SyveEvss—| 5| 2 (1.01.05)
150 | K& B JEFEKAC—B | 5] 3 81 (=B X375 syvevsr—r| 5| 3 [3->4
151 |5 Xz JEKkAC—B | 5] 4 79 g EY Syvbeyssr—+|5] 4 1m short
437 B w7 =% 5] 1 DQ
7| 441 |WHEH #—F =5l 5 2 (1.06.66)
439 (/B F0 eFFE_ 5 3 [2->3
438 [MiE EA 2FFE_ 5| 4 2m over




20160703 RESULT

176 | BaTt FR.C 5] 1 57 %@l Ak RAE— 5B 5] 1
1 177 |5 EH FC 5] 2 1.03.88 2 55 [#E #E RKE—-5HB 51 2 1.04.10
178 [#hRE B FHC 5] 3 58 |WiA #&#&F RARZE—58B 53
179 ELZKR BTy FakC 5] 4 56 |AH Bk RAZE—5B 5[ 4
296 (k&P =# % AAC—5B 5] 1 240 3Lt MEfE vbhKSC-5C| 5| 1
3| 295 [ #¥E KAAC—5B 5 2 1.05.42 4 | 237 |8 AWE vbMEKSC-5C| 5| 2 1.05.74
3 297 IIIIR AR KAAC—5B 5] 3 238 |8JIl B vom=KSC-5C| 5| 3
298 |ski  #xfE HAAC—5B 5| 4 236 |PHEH #EER vintKsc-5¢| 5] 4
275 (Wwa  #7m 10015~ &35 v-B[ 5| 1 144 (LA £ZH JtEKAC—A [ 5] 1
|| 5 276 |k =HS 10015 v &5 >-Bl 65| 2 1.06.93 6 | 145 |EF HDY JEFEKAC—A |5 2 1.09.11
277 (/\@B B= 10015~ &35v-B[ 5] 3 146 (&)1 BkTE s KkAC—A [ 5] 3
278 @A BE 10015v&5v-B[ 5] 4 147 ML F=2 JEEKAC—A | 5] 4
29 | BRI $HFE  |HHABE 5] 1 DQ
7 26 |dbH #EE HHAE 5 2 (1.07.54)
28 |#Ak mEE BHAAR 5] 3 |1->2
2] _|AH E&E BABE 5| 4 10m over _
291 |&® & HKARAC—HA 5( 1 233 |ME  #ETE vbnE=KSC-5B( 5] 1
1 289 |EF BE RAAC—5A 5 2 1.00.49 2 | 235 |EIL =& VoM EKSC-5B| 5| 2 1.01.69
290 |®MH =N KARAC—5A 5] 3 232 |Ih\gg EF vbhrKSC-5B| 5] 3
293 |HFE = KAAC—5A 5[ 4 234 = BB ubntKsSc-5B| 5] 4
16 [EH ==X SEM7yFLEA|5] 1 271 |K#E BEHF  [10015>&F5v-Af 5| 1
3 19 [RR &5 KM7w FILEA|S| 2 1.01.75 4 [ 272 | k& 10015 v &S5 v-Al 5| 2 1.02.60
4 17 [Pk BE SMT7YFILEA|E] 3 273 |NI% 10015 &5 v-Al 5] 3
18 |IIA  #EEE M7y FILEA|5] 4 274 WK B3 10015 &5 v-Al 5] 4
574 |EHEH MR EBFRE=L5() | 5] 1 490 |FN g EEEDHB 51 1
#5575 [IkRx OBk EERE_5(R) | 5] 2 1.04.80 6 | 488 |3 EH&H EEESB 5] 2 1.09.41
576 &t HEH BEmRE=5(x) |5 3 489 [JIlO #vho EkES5B 513
577 |BEEE #F BERE—5G) [5] 4 491 ARt EEESB 5|4
322 5Bk W@ = H#58B 511 DQ
7 | 325 (H* Uiz = HE#58B 5 2 (1.17.69)
324 | B = H#5B 5| 3|2->3
323 | AR X = H#58 5[ 4 8m over
j—‘_ j—‘_
IE | BE KE % FE4 2ia-| R IE | BE K £ E4 2y ko
230|7F% B 0BM=KSC-5A 5i 1 bAlFEA  Wjn BAE—LHA 5 1
1 228kl HE UBMKSC-5A bi 2 58.76 2 B3| MA L RKZE—-DHA 5: 2 59.90
229\ F #%F |vssnrKsc-5A 5i 3 b1|H =W |RKEF-5HA 5:3
231|738 £k vbHKSC-5A6) bi 4 B2|mifE SF RAK#E—-LA 5i4
291[&F® 78 KAAC—H5A bHil 233 HETE UbHKSC-5B 5i ]
3| 289|FH/ f&E XAAC—5A 5i2 1.00.49 4 | 235|=lL =B UbMKSC-5B 5i 2 1.01.69
~ 290(#aH =3 H*ARAC—BA 5i3 232|/hg BT vBMEKSC-5B 5i 3
R 293|# L % XAAC—5A 5:i4 234|=|| BB VEMEKSC-5B 5i 4
b 16|EH == SM7vTILEA B 1 492|REl FE HFEDS A 5i 1
8 5 9ER &4 RM7y FILEA 5 2 1.01.75 6 495|FAR KB HEDSA 5: 2 1.02.18
17|78 B8 KMFTvIILEA B3 494|#E 1—KE= |HESA 5i3
18| IIA  #EEE RMFTyFLEA bi 4 493|FF %KE FESA 5: 4
260| "H ZH#E JXEAC-5A Hi 271/ KP8 MERLF [10015>&S5>-A 5 1
7| 254{Kdt ££tm JXEAC-5A 5i2 1.02.35 8| 272|g& k& 10015 &5 v-A 5i 2 1.02.60
251| A %X |2XEAC-5A 5i3 273|115 55 10015 >v&5>-A 5 3
252\ MHAZE |JXEAC-5A 5i4 27410 @B 10015 &5 v-A 5: 4
5 - 6FEH{BELF 4X100mY) L—RE (KRFREXF—LEEL—X)
T T
B | &F E % FE£ I IE | BEE K £ FE4 24 SoE%
407 (REH YtA TIZHJAC—A 6] 1 124k HR WHY1=Z7A 6] 3
409|EH SFEi& RIZHJAC—A 6| 2 125| /hNE WHY21=F7A 6| 4
1 4088 2P |RIZHJAC—A 6] 3 2 128|fFk BT WHY1=Z7A 6] 1
A11[EN %A I2hHJAC—A 6] 4 54.33 127|51H EHE WHS2=FA 6] 2 54.89
215|E AXx UbME=KSC-A 6] 1 8| AKY FEE |EMTYTILA 6] 1
216|RAE A VbmEKSC-A 6] 3 9| EJI x RM7Ty TILA 5| 2
3| 27|\ —% VM KSC-A 6] 2 4 7|88 MNE RMNF7y FILA 6] 3
R 2181l —2 UsHNEKSC-A 6] 4 57.04 6| HMHE B EM7y FILA 6] 4 57.54
] 38 |HIEREF HRJ-6A 6] 1 43|AAK #4cTE |RKE—6A 6|3
386| LM EF7y |HRJ-6A 6] 2 41|FE=ZE E&H RAKE—-6A 62
) 387 |iEkE EiE HRJ-6A 6|3 6 42|51H E&H RKE—-6A 6| 4
388[IyA  F HRJ-6A 6| 4 58.07 BRFER WS [BRAE—6GA 6] 1 58.68
497 |BEH  &A] EEY ST 6| 1 5191l it ZTEFKSRC-A 6] 1
408 MHBEZE |BEEITT 6] 4 518|&A =M ZTEKSRC-A 6| 2
7 499 (M EHiK EEY ST 6|3 8 51711 ®EY | RKEKSRC-A 6| 3
S500|paE & EXH ST 5| 2 58.61 521 E  #% [XEFKSRC-A 614 58.65




20160703 RESULT

4 FBF 4x100mR
T
No. | 7- No. 2| -
A 1E | Ak Ve = F| 4 0% B [ A-p JavES = F|5- o
397 EF' = HRJ-4A 411 538 |He FHEERR XY ST 411
1 398 |F#E HE HRJ-4A 41 2 1.01.73 2 | 539 |=% #EE BEEY ST 41 2 1.06.83
399 (M5 #ER HRJ-4A 413 540 | X BAK BEEXYZT 41 3
400 |FH H— HRJ-4A 41 4 541 |FAKRE T XSS T 41 4
77 |EE #'E WHY21=7 411 64 AR H*k FEBE —4A 411
3 76 (@ HhiE WKHYa1=Z7 41 2 1.07.53 4 72 | K& K FEREZ4A 41 2 1.08.13
1 78 |#EAAR K% |KEPa1z=7 413 66 [/NEERE EX |[FEIFE4A 413
79 [t i WA 1=7 41 4 67 |FH X% FEEBE —4A 41 4
314 |HH RF= = H#4B 411 248 &% B 10015 &5 v-Al 4] 1 DQ
| 5| 313 |mA L3 =HHH4B 41 2 1.12.44 6 249 [HE StiE 10015 &5 v-Al 4| 2 (1.03.65)
315 |8 —# = H#48B 413 250 |#¥Em #4£ 10015 v&Fv-Al 4| 3| 1->22->3
316 [HE w2 = H#48 41 4 251 (@A)l &N 10015 &5 >-Al 4| 4 | 7mov, 3mov
261 |HHE MK 10015 &5 >-D| 4] 1 DQ 227 |=F F®KX OXEAC-4A|4
7| 262 |8l = 10015 &5 >-D| 4| 2 (1.16.46) 226 |AE 1K OXEAC-4A|4 DNS
263 [T K— 10015 v &5 v-D| 4| 3 |3->4 221 [(rep K& OXEAC-4A|4
264 |fBH KL 10015 &5 >v-D| 4] 4 1m over 222 |F®E B3 JOZXEAC-4A|4
26 |k =X swvevsr—ral 4] 1 196 [HEA K vnmtKSC-4A| 4] 1
1 31 [dew & Syvevsr—ral 4] 2 1.01.11 2 | 197 |ENl BEKRER |ussrKSC-4A| 4| 2 1.04.20
30 [hE HEE svyvevssr—rAl 4] 3 198 =@ H% vbhtKSC-4A[ 4] 3
33 [F\E B sevevysr—rAL 4] 4 199 [E# Fih3l |uoonrksc-4A[4] 4
319 |BJIl HE5 Stkda—krEuvs| 4] 1 311 [k = = H4A 411
3| 318 |/hfr BR{C stFa—RrFug 4| 2 1.04.62 4 312 [AF% =H& =HMAK4A 41 2 1.05.57
2 317 |hEe &4 SkHa—rErs| 4] 3 309 (B o= = H#H4A 413
320 [hWE #HE skHo—rxv7 4] 4 310 [kE BAH = H#4A 41 4
401 |k REZ HRJ-4B 411 228 |J\+ #h# OXAEAC-4B|4] 1
(| 5| 402 |NIE B HRJ-4B 41 2 1.06.20 6 | 224 |’%H# B JOXEAC-4B| 4] 2 1.08.63
403 |18 HE HRJ-4B 41 3 220 |HLE HFE OAXEAC-4B| 4] 3
404 |M:E RIE HRJ-4B 41 4 223 |lUAR St JOXEAC-4B|4] 4
252 |4 3RER 10015 v&5v-B| 4] 1 439 |BFX N BIZHJIAC—C | 4] 1 DQ
7 | 2563 | HK 10015 v &5 v-Bl 4] 2 1.10.46 8 | 436 |HH EX 2124 JAC—C 41 2 (1.06.73)
254 1%k B 10015 v&5>v-B| 4| 3 438 |fBE &M BIZhHhJAC—C | 4| 3|2->3
265 |[EH #4hA 10015 &5 v-B| 4] 4 437 |[AF B BIZHJAC—C | 4] 4 2m over
423 |5E+=E EA JACRHE 411 351 |E¥ BA H1EAC-D 41 1
1 424 iRt BHE JACRME 41 2 1.04.41 2| 352 |& [CES FH1EAC-D 41 2 1.06.70
425 (LR ¥EX JACRHE 41 3 353 |BE BA H1EAC-D 413
426 |85k FH JACRMEM 41 4 350 |fFEE X FH1EAC-D 41 4
468 (TN #BX eFE_ 411 32 | kB BAX svyevysr—Bl 4] 1
3 | 467 |BA A BEE_ 41 2 1.07.76 4 27 &I A28k Svyvevyr—rBl 4] 2 1.08.88
3 472 |RER BN EEE_ 413 29 |Ba BX srevevyyr—B| 4] 3
469 |¥EH BEE SFE— 41 4 28 |#EW EH syvevys—1Bl 4] 4
68 [fBE #EA )%%B%:4B 411 256 [{£% #X 10015 v &5v-Cl 4] 1 DQ
5 65 |#EE S BEE 4B 41 2 1.13.07 6 | 257 |E% =X 10015 &5 >-Cl 4] 2 (1.14.68)
63 |&H HX %B%:4B 413 258 |FKE —& 10015 v&3>-Cl 4| 3 |2->3
71 1Rk XK EEBEE—4B 41 4 259 /MR KiE 10015v&5v-Cl 4] 4 4m over
200 |k K= uvbmtKsc-4B|[ 4 1 DQ
7 | 203 ([HER % vomt=KSCc-4B| 4| 2 (1.17.67)
201 (#n@ &wF vbhkKSC-4B| 4| 3] 2->3,3->4
202 |¥RH T vbn=KsC-48| 4| 4 [ &20m over
T T
BE|&/HE|] K £ FE% FiA- F08% B | BES K £ FE4 FiA- ko
KV GESEES HRJ-4A 4: 1 AIEEIETS swrveysr—tA 41
398|FH HE HRJ-4A 4% 2 31|14kt # SwvEvIr—A 41D
1| 399|@% #k  |HRJ-4A 4:3 2| 30|FRE sHE [sevevsrora 403
400|/FHH — HRJ-4A 4: 4 1.01.29 33|FE I Swvevsr—rA 44 1.03.22
423|a+=E BA |JACRME 41 19|/ EH5 StHa—rEyy 411
424k BHE JACRHE 4% 2 318|/N\BR  BRIZ StHa—kEvy 432
3 425( L8 EK JACRHE 4: 3 4 317\ 1&&E Sfto—rx>s 413
R 42685k B JACRHM 4: 4 1.03.78 3201 0E #HE SEdo—kxoy 454 1.04.71
% EFEEZEESS UBHEKSC-4A 41 1 3BL1[LEEH BA HBAC-D 4% 1
197|F )1l BEKRER |vomiKSC-4A 412 352|& 5E FH1EAC-D 4: 2
5 198|= &% VBhEKSC-4A 4} 3 6 | 353|R#E A FH1BAC-D 4:3
199|F4& il |usnrKsc-4A 4i 4 1.04.75 350|Fik #BX H1EAC-D 4: 4 1.05.63
401k RE HRJ-4B 41 31|+ L = = HM4A 41
402|NiE 5 HRJ-4B 4i 2 312|AFZ% H=E EHM4A 4i 2
7 403 (£L 8 HRJ-4B 4: 3 8 309|f8lL  FnE = H4A 4: 3
404|Hi2 M3 HRJ-4B 4: 4 1.07.27 310(/kE #H = H4A 4: 4 91.06.62




20160703 RESULT

4 FLF 4x100mR
T
No. [ 4- No. = 7-
B 1IE| AN Ve = F|5-|  FE% B [ A-p Ve = F|5- o
390 & BAF HRJ-4A 411 84 [BAX &K Syvevsr—r| 4] 1
1 391 |5 732 HRJ-4A 41 2 1.02.63 2 83 |HmREM BF SvveEvssE—~| 4| 2 1.04.99
392 |&JII T HRJ-4A 413 85 |¥4iE I2E Syvevsr—r| 4] 3
393 |®E TE HRJ-4A 41 4 87 [&E F CyvevsrE—r14] 4
119 %% & WHS2=7 411 480 |AA #E3E HiRJC 411
3| 117 ([HA ## WKHYa1=Z7 41 2 1.05.45 4 | 481 [k v &Y HixJC 41 2 1.07.86
1 115 | FK WHY 217 413 482 |:=HEF =R HixJC 413
116 [ K&t 1% KEYa1=7 41 4 483 | XE HE HIxRJC 41 4
241 [#@B HAVY ubnEKSC-4A[ 4] 1 326 (=% #k=E =B 411
# | 5 242 |F0E #F UbnEKSC-4A| 4] 2 1.09.50 6 | 328 |#Af sk EHEHK 41 2 1.13.42
243 |WAH TRk ubmKSC-4A[ 4| 3 327 |5H% HhaA  |EEK 413
244 [t BB vbhEKSC-4A[ 4] 4 329 [@AA B =R 4] 4
369 [luAx = H1EAC-D 411 445 | &R = e2E_ 411
1 368 [ILEY F5F0 FH1EAC-D 41 2 1.06.63 2 448 |15 f&# b3l 41 2 1.07.26
367 |¥E TR H1EAC-D 41 3 442 |mifT =& gEE_ 413
366 |EEE BDOH F1EAC-D 41 4 444 |5uifE & H sEE— 41 4
63 [WuF FRs RAE—4B 411 352 [Al B EXD 217 411
3 64 |;xE TH RKE—4B 41 2 1.07.63 4 353 |RE FRF BARY 217 41 2 1.07.75
2 66 |WEE HER RRKE—4B 41 3 354 1T E2F S N Ry 4 41 3
65 [+t =B RAZE—48 4| 4 355 M mER EXYa=7F 414
284 |k AL 10015 &5 4] 1 161 (g #k7E JEEKAC—B | 4] 1 DQ
#[| 5| 285 | A E=E 10015 &F 4] 2 1.10.38 6| 162 (AT == JEFKAC—B | 4] 2 (1.06.47)
286 (¥ #n 10015 &5 |4 3 163 [Eith EZ2 JEEKAC—B | 4] 3 |1->2
287 |AT METE 10015 &5 4] 4 164 |24 0¥ EEKAC—B |4] 4 10m over
419 |/BE ¥4<iE 124 JAC—D 411 60 883 =B RKE—4A 411
1 420 (BB =¥ (2 JAC—D 41 2 1.02.34 2 61 |BE =1 RKE—4A 41 2 1.04.61
423 fERKR DhE 124 JAC—D 41 3 62 (&H #HX£ RRKE—4A 41 3
422 A —1E 22 JAC—D 41 4 59 |BA HEH RRE—4A 41 4
258 | D& OXEAC-4A |41 333 [AF MET |[s0o—rxvs|4] 1
3 | 256 |MIE #&TE JOXEAC-4A 4] 2 1.08.69 4 [ 330 [BR Z|HE skHn—Rxoo | 4] 2 1.10.20
3 257 |#@ EBES JOXREAC-4A [ 4] 3 332 (A8 k= Srin—rExvg| 4 3
259 [lEm  Emx JXEAC-4A | 4| 4 331 |E®k & StHp—kExvs| 4] 4
157 KR B dEFKAC—A | 4] 1
M5 158 | KT HE FKAC—A | 4] 2 1.10.21
159 (&% R JsEKAC—A 4] 3
160 [&BE T4 IEKAC—A | 4] 4
- *-
B | &5 Ji¥ FE% e o JE | BES K £ FE4 FiA- ko
39088 HHF HRJ-4A 41 419|PeH X4&&E |RICHJAC—D 4: 1
391|F5h FRH HRJ-4A 4: 2 420|5H =N BIZHIAC—D 4: 2
1 392| &I BTy HRJ-4A 4: 3 2 423|fk<K mE |RIZHJAC—D 4: 3
33 |HE FE HRJ-4A 4: 4 1.01.73 422|gEAX —7t BIZHJIAC—D 4: 4 1.01.86
HIEE 2 RRE—4A  4F1 841K BIK Syoevsr—F 41
62|FH HBE RXKE—-4A 4i3 83|EAM BF |vrrevsyr—+ 412
3 60 (8831 3P RRE—4A 4] 2 4 85| LtE IRE |[crvrevssr—r 403
R BI[EAR EHE RARE—4A 4: 4 1.04.21 8718t SvyEVvssS— 44 1.05.30
] 115[E  FK WHYa1Z7 4:i3 369|ILA EE B BAC-D 41
16| AR 1& WHYa2=Z7 4i4 368|ILEL BN H1EAC-D 4: 2
) 117(BO % WHYa2=7 4:2 6 367\ FE F1EAC-D 4:3
19| % & WEH a2=Z7 4% 1 1.05.51 366|FEEE AHoH |HIEAC-D 4: 4 1.07.01
63[LLAT  FR RRE—4B  4i 4 448 5 SEE— 4: 72
64;xkH TFH RKE—-4B 42 445|& . HBE gEE_ 4:1
7 66|HEH ThER RRE—-4B 41 8 | 442|mifr =E ERE - 4:3
65| A RBRE—48B 4: 3 1.08.18 444150198 & H eFs_ 4: 4 1.09.06




20160703 RESULT

6FEBF 800m
T L
e Be K _# BEZ = i B &S K FEZ 2 TE
1 T SIHM s [HERERC 3 22768 1 2] 1/2|%8 thic OLhFEKSC 6 2.09.72
3| GOI[EH =& |[E¥R%E- GO 6 2.32.04 4] 58h|EIE K |[KoEAC GI) 6 2.32.50
5| 476[ILA  EEE Zhx¥v 7 6 2.33.16 6] 92|AH oM WES1-7 6 23547
7] 373[#E B4  [HRJ 3 2.36.17 8] G3[#EIl #EH |REE— 6 2.36.19
9] 564[F= K& |[XBKSRC [5 2.36.95 0] 560[A# A%F  |XFHKSRC 6 2.38.76
1| _586[=# RN [®RPEAC G 6 2.39.87 2| 212[HF_3ha JXEAC 6 2.40.28
3] BA[IiA ¥  |EEREm— 6 2.42.86 4 275 _BA FAAC 6 2.43.87
5| _93[FfE #n#k KHY21-7 6 24414 6| GAEA = EERE— 6 2.47.21
17 Ak Ew P EFRC 6 25041 562/ KA BT [XEFKSRC 6 DNS
202 _EA = Wtk 5 DNS 13[E Ik AT 6 DNS
7 T 21780 2Aks JXEAC 3 24200 2 2] 3/5|0% 1~ HRJ 6 2.46.14
3| 378|EE  #HiE HRJ 3 2.46.46 4] 210k A1 JXEAC 6 2.46.60
5| 561[/ME_EX ZZBPKSRC 6 24971 6] 422(&2 ®ak JACRE 6 2.49.34
7| 4T4[ Bl BB JACRE 3 2.52.64 8] 277| A AFE  [RAAC 6 2.52.80
9| 587[FExt ¥3} [RoEAC G 6 2.54.98 10[ 563[Kjm Kt [KEBFKSRC 6 2.57.03
11 241[@0 Skt 10015 V&5~ 6 257.21 12] 20[B% —f [vvvevo5—+ 6 2.57.32
13 476[ILE H3F JACRE 6 25797 14| 383[## BE  [HRJ 6 2.59.69
5] _47(E# & JRCH1E 5 3 3.01.56 16| b4O[#AF ¥AFN |[RAEFU—LZ 6 3.04.44
7 419|5+H BEA [JACRE 6 3.07.71 18] 48[HE BA  [JRCHIED 6 3.08.15
ol 204|kX8 FHE [EEMK 3 3.10.86 T1[ET AR TR 6 DNS
3 T 98[57K_#CA JEEKAC 3 2.41.06| 3 |_2| 487|594 FEABl |2RHR¥*Y T 6 24587
3| GRA[FEAR KE [FEEXsZJ 3 24743 4] 609|&E EE |[B¥RE- O 6 25584
5| 460[kA mE |Eem— 3 2.56./3 6] 661[# FIE SAZER)—LZ 6 2.57.49
7] 125|Xx @0 |[EIlH 3 2.58.05 8] 49[¥= #r  |IRCHEDL 6 3.00.98
9 21|@msm = Sw B IE—F 6 3.01.14 10| 349[RH Joqr  |HEAC 6 3.09.18
11] B507[EPF§ =4 [X&SC 3 3.11.25 12| 123|3F AAAEA |FalLME 6 3.13.34
13 50[dh#m m3F [IRCHIED 3 3.14.19 T4 _124[hH €A |[FLH 6 3.16./1
5] 546kl == |SAZFU—LZ 6 3.17.42 16] 242[srm BEZe 10015>&5> 6 3.18.45
7] 492|h s ¥t  |[ZEdhxEv T 6 3.20.54 18 6l KE [PEREHRC 6 3.54.55
19 7121 ZZf [FHEEHRC 5 4.06.41 206|E4H A =W 6 DNS
KEREHEE EX%
E]EE] K £ HEZ = R ElES] K % EL = TE
1 SIHP iy  |SHBERC 3 2.0768 i SIHA_Ziis [ HERERC 6 2.2/68
2] 172|188 & U5 =KSC 6 2.29.72 2] 172|188 & U5 7=KSC 6 2.29.72
3| 476[ILN HEE ZhxEXv T 6 2.33.16 3 6O1[EHF =& [B¥KRE- GO 6 2.32.04
# 4 9rE =2v% KEHS1-7 6 23547 & | 4| G85|EIE #i  |[®0OEAC GI) 6 2.32.50
2 [ 5] 3/3[8BE B+ |HRJ 3 2.36.17| B [ 5| 476[lLA = EhxE¥v T 6 2.33.16
6] B3|kl wMEH |FEE— 5 2.36.19 6] 92|AH = WHS -7 6 23547
7] 564[%=E X& [ZEKSRC 6 2.36.95 7] 373[H@E B4% [HRJ 6 2.36.17
8| Be0[AK A ZBFKSRC 3 2.38.76 8] B3|kl & |EEE— 6 2.36.19
6 FEXLF 800m
EON;
BB XE| K %= HEs = 5 I = E % it = B
i IR ET S X EFKSRC 3 2.33.13] 1 2] 135k Al WH>1-7 6 2.34.03
3| 17| mED [3BKSRC 5 2.34.96 NENEEEEET SvvEuT5—F 6 2.38.38
5 77|kl BXE [vrvvevsy—+ 6 24157 6] 5b6[HII #kXE LOEAC (F1) 6 2.43.14
7| 206|F# == U6 =KSC 6 2.46.59 8| 247[ILF =1t JXEAC 6 24732
9] 375|.E fES FBAC 6 2.48.49 10 25[8#¥ FoF |[HFEAE 6 25937
OPN[ B4T[EH %I |[Fgs/>IEH 6 (2.4055) OPN[ 542[=% m{E [A#2>5JGE) 6 (2.41.43)
OPN[ B43[KFf 3kE  |AgEISIGD) 6 (2.4452) OPN| b44|EEH = raEY S5 (2D 6 (2.45.99)
7 T[ _133[mEs_=A Bo1-7 6 24464 2 |2 303|&H 1= HRAAC 6 245064
3| 302kHF wE JAAC 3 24715 4] O3(pEF P [JRCHIED 6 2.48.20
5| 134[2H ¥ KES21=-7 6 24825 6] 248[PE Z&Jy JXEAC 6 25477
7] 520[HE =& ZBKSRC 3 2.56.86 8] 516[EH Zm=R |ZEHKSRC 6 257.62
9| 486|#MH ¥*%%= |&EHEE 5 3.04.00 0| 487|185 &% |EHEL 6 3.05.27
11| 348/MER. ZEH |BEAXASa1=—7 6 3.09.19 2] 92(MH 4nZE  |JRCHED 6 3.14.33
OPN[_ 147 [#5kx _ —#b JEEKAC 5 (255748 Ch4[RER B&  |®OEAC G 6 DNS
KIRFHEF — - - — —
B | 8= K £ _Ef Ed SOER g | &= K % il=ES Ed ik |
1] 518[&HR %= X EFKSRC 3 2.33.13 T _5i8[&A =t [ REKSRC 6 2.33.13
2| 1358 #0 KA 1=7 6 2.34.03 2| 135]:A& 0 RES1-7 6 2.34.03
3] 517[IE BHEH [XEKSRC 3 2.34.96 3 5171 BRED [XBKSRC 6 2.34.96
# | 4] 7/5|%k %@ SxoEUTF—F 6 23838| #& |4 75|k =M Sy U —F 6 2.38.38
£ 5 7/l Xl Bx&E |[Covrevs5—+ 6 24157 & 5 TR BEE [vrrevsds5—+ 6 24157
6| 133 =4 WHS1—7 6 2.44.64 6| B556[AJI Bkk  |[RoEAC G 6 2.43.14
7] 303[#2H % FAAC 6 2.45 64 7 133[@E =8 WHS -7 6 24461
8| 226|F% == VS FKSC 6 24659 8| 303[H % EAAC 6 2 45 64




20160703 RESULT

5&BF
T L
i | | 2 R4 = S0k K % PE% =
%L T[__ 405 ARJ 5 2.39.53 2 TR For [RARAC 5
3 589§ B |[®OEAC GO b 2.41.06 4 gﬁ Y% |[&RAAC 5
5 B f WH>1—7 b 24417 6 I ULMEKSC b
7| 268~ 1R %73% & AAC 5 2.46.98 8 ML@g EEhEs — 5
ol 6I3[HA M [E¥ksE— 0 b 2.50.70 0 HE] W8 [®RoEAC Gn) b
T 321[HEH B= EH0—Fx> 7 b 2.52.34 2 EXK i WHS21=7 b
3 e mn  EEmE— 5 25467 4 BE = AR 5
7 | _56/|=—=% %‘n’% ZZEFKSRC 5 24839 7 Hih & = HA 5
3| 396[A Z=f  [HRJ 5 254.46 4 FSE S IN JXEAC 5
b| 506[ZEEpE =t X#SC 5 2.58.41 6 i ¥ 10015 >&5> b
7] 568[F)I finth ZEFKSRC 5 3.01.63 8 == =X FZAAC 5
o 218|HF % JXEAC 5 3.03.56 0 =7 =z 2 EFKSRC 5
il RE #3f FEahE — 5 3.06.15 2 INEEEEFS EIH 5
302|%% & |[HRJ 5 DNS 2R H—H [HBAC 5
3 T[ Gb8|EA S = SAZRU—LZX 5 258.79 7 =~ o = H1h 5
3| 303[EE 1mE = HA% 5 3.08.08 4 = BYE SHAEFJ—LRA b
5 = JRCHFE S 5 3.12.63 6 B X EEE— 5
7 B e | EEhEm— 5 3.20.41 8 EH B JACREE 5
o 244[)1l78_Es 10015 V&5~ b 3.21.68 0 FEEH ik |Eem— 5
11| 623|&# A= EOEL 5 3.25.11 P EN —% JE5KAC 5
OPN[_T0T[:Es == LEKAC D (3.06.19) P N EA JLEKAC 5
KERTEE __ _ __ __ __
5| E=E | K E2 FIE4 = 08X [ K £ E4 = S0k
1| 405|/H M= HRJ 5 2.39.563 i W HRJ 5 2.3953
2| 285[fF& e FAAC 5 2.40.08 2 WE FoR  |HRAAC 5 2.40.08
3| 266[dff &  [EAAC 5 2.42.83 3 =5 BB |[KOEAC G b 2.41.06
# [ 4 EH & WHS1—-7 b 24417 # [ 4 it JeZE  [RAAC 5 2.42.83
2 [ 5] 186[E]Il & U5 KSC b 24497| & [ 5 EH 15 WHS -7 b 24417
6] 268[F# =HE |%AAC 5 2.46.98 6 Bl & USIEKSC b 24497
7| 567|=% =¥ [XBKSRC 5 2.48.39 7 At EHE |RAAC 5 2.46.98
8 LWx B (EHE— 5 2.48.00 8 =% =f8 | XEHKSRC 5 2.48.39
5% LF
EPN; _ _ _ _
E-EEN K 2 HEZ ZE] 08k T K Z E% E2
T T| b08|ZEI =E  |[®RoEAC G b 2.33.28 2 TH Bx  [RoEAC GO 5 24
FIEEHENED UbAEKSC b 24437 4 = = OS5I EKSC b 2.4
5| G56|%@h =EF [£OEAC G 5 2.49.46 6 SRS UbhAEKSC b 25
7] 250 FH =4t JXEAC 5 251.96 8 EL == FREY S5 T30 b 25
9 BEM A |UvroEvrr—F b 2.54.80 0 WL HH  [FEZSIGE b 25
11| 262|FM mAZE |[aXEAC 5 257.04 2 AE O3 FiEAC 5 25
13| 261[Ff #%ExE |[OXEAC 5 3.01.28 4 2 FAAC 5 3.0
15 i 95 SvoEuIr—F b 3.01.68 6 S8 e | RAAC 5 3.05.37
17| 457|WAH W%  |2HXF¥Fv T b 3.06.79 OPN Wi EF TAAC 5 (3.1
557 gﬂ_g%% LOEAC G5 DNS TN M T AAC 5 DNS
7 T F=IE: iR 5 3.01.86 2 FREy m EEs— 5 3.04.2
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